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QUESTION 1

Which option best describes a mechanical, ingress, climatic, chemical and electromagnetic environment that is
classified as M3 I3 C3 E3? 

A. the highest quality 

B. office environment 

C. severe 

D. serviced by multiple cable segments 

Correct Answer: C 

 

QUESTION 2

Which two pieces of information are commonly tracked as part of a change management process? (Choose two.) 

A. reason for the change 

B. names of people involved in the change 

C. return on investment related to the change 

D. SWOT analysis related to the change 

E. scatter diagrams related to the change 

Correct Answer: AB 

 

QUESTION 3

What is the purpose of Spanning Tree Protocol? 

A. to prevent routing loops 

B. to create a default route 

C. to provide multiple gateways for hosts 

D. to maintain a loop-free Layer 2 network topology 

E. to enhance the functions of SNMP 

Correct Answer: D 

 

QUESTION 4
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Exhibit: 

Refer to the exhibit. Which port should a PLC with IP address 192.168.3.65 be plugged into in order to communicate to
the rest of the network? 

A. FastEthernet1/1 

B. FastEthernet1/2 

C. FastEthernet1/3 

D. FastEthernet1/4 

E. FastEthernet1/5 

Correct Answer: C 

 

QUESTION 5

At which Layer would you check for spanning tree loops? 

A. Layer 1 

B. Layer 2 

C. Layer 3 

200-401 VCE Dumps | 200-401 Study Guide | 200-401 Exam Questions                                3 / 4

https://www.geekcert.com/200-401.html
https://www.geekcert.com/200-401.html
https://www.geekcert.com/200-401.html


https://www.geekcert.com/200-401.html
2024 Latest geekcert 200-401 PDF and VCE dumps Download

D. Layer 4 

Correct Answer: B 
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